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A1 =1.994969 V,; =1[0.701391 0.707741  0.084573]
A, =1.004003 V, =[-0.134162 0.014553  0.990853]
A3 =0.001027 V3 =[0.700036 -0.706322 0.105159]

59\77
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=lproc r data=ss
Ioutest=b ridge=0.008 to 0.064 by 0.002;

model y=X z W XZ XwW Wz z2 X2 w2/corrb vifloucseb outvifl;
plot / ridgeplot wvref=0 href=0.032 lvref=1 lhref=1 cframe=ligr nomodel;

Ridge e :ﬂ
Label of e aomios | vanable | oS | ooh e | sumedemor | ercen
dropped
33 |MODEL1 RIDGEVIF vy 0.028 I . |
34 |MODEL1 RIDGE y 0.028 . 2.3587383465 -78.52666478
35 |MODEL1 RIDGESEB y 0.028 . 2.3587383465 — J
36 MODEL1 RIDGEVIF ¥y 0.03 : : :
37 MODEL1 RIDGE y 0.03 . 23977740078 -77.91855417
38 MODEL1 RIDGESEB vy 0.03 . 23977740078 <
39 MODEL1 RIDGEVIF vy 0.032 X i ;
MODEL1 RIDGE y 0.032 . 2.4369562961 -77.29731218
41 MODEL1 RIDGESEB vy 0.032 . 2.4369562961
. 42 |MODEL1 RIDGEVIF vy 0.034 y . T
e | o Ry s ,,,,w.l.’_J
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Ridge
Type of Dependent 5
Label of model o 2 regression Intercept x z w xz xw wz 22 x2 w2
statistics variable ol e ‘ ‘ ‘ ‘ ‘ ‘ ‘
35 |MODEL1 RIDGEVIF JJy | 0.032 .| 1.4149557907 1.389872581 0.7753496837 1.5358317082 1.469578195754 4.0423606734 4.5688752836 1.5396893207 3.0692878139
40 |MODEL1 RIDGE y 0.032 -77.29731218| 6.0953991401 0.2052158983 -82.96018494 0.0048605185 -9.402219612 14611082757 -0.016675784 02717024636 63.615828103
41 MODEL1 RIDGESEBJ y 0.032 18.128287707 0.5283609585 0.1310138343 17.51196108 0.0108672408 2.2601899694 3.2396458301 0.0083281269 0.0402086218 323.96835535

el 00 5,155 158l 05 lawes 0.008 < k < 0.064 I, polie oV

b pe Sie ol &8, 4 Y Jguo 5l eslaal b olg e Sl 4V
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» Introduction to Linear Regression Analysis,
Montgomery Dauglas C; Peck Elizabeth

» NC55 statistical software, Chapter 335 : Ridge
regression

» Applied Regression Analysis, John O- Rawlings,
Sastry G- Pantula, David A- Dickey
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